MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

140 WEST FLAGLER STREET, SUITE 1603

BUILDING CODE COMPLIANCE OFFICE (BCCO) - MIAMI, FLORIDA 33130-1563
PRODUCT CONTROL DIVISION (305) 375-2901  FAX (305) 372-6339

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/buildingcode

Air Balance Incorporated
7435 Industrial Road
Florence, KY 41042

ScorE:
This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control Division
and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas
where allowed by the Authority Having Jurisdiction (AHJ).
This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Division that this product or material fails to meet the requirements of the applicable building code.
This product is approved as described herein, and has been designed to comply with the Florida Building

" Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Model A-520 5” deep Aluminum Louver

APPROVAL DOCUMENT: Drawing No. 1686, titled “A-520 Impact Louver System”, sheets 1 through 10
of 10, dated 07/23/09, prepared by W. W. Schaefer Engineering & Consulting, P.A., signed and sealed by
Warren. W. Schaefer, P.E., bearing the Miami-Dade County Product Control approval stamp with the Notice
of Acceptance number and approval date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, Wyalusing, PA,
and the following statement: "Miami-Dade County Product Control Approved", unless otherwise noted
herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 and evidence page E-1, as well as approval document mentioned above.
The submitted documentation was reviewed by Carlos M. Utrera, P.E.

NOA No. 09-1015.11
Expiration Date: January 27, 2015

MIAMI-DADE COUNTY
APPROVED i / 4 // 0 Approval Date: January 27, 2010

Page 1




Air Balance Incorporated

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Drawing No. 1686, titled “A-520 Impact Louver System”, sheets 1 through 10 of 10,
dated 07/23/09, prepared by W. W. Schaefer Engineering & Consulting, P.A., signed
and sealed by Warren W. Schaefer, P.E.

B. TESTS
1. Test reports on: 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram, of “A-520 Aluminum
Louver Systems", prepared by Hurricane Test Laboratory, Inc., Report No. 0198-
0305-09, dated 09/29/09, signed and sealed by Vinu J. Abraham, P.E.
2. Test reports on: 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram, of “A-520 Aluminum
Louver Systems", prepared by Hurricane Test Laboratory, Inc., Report No. 0198-
0715-09, dated 09/30/09, signed and sealed by Vinu J. Abraham, P.E.

C. CALCULATIONS
1. Structural calculations prepared by W.W. Schaefer Engineering & Consulting, P.A.,
dated 10/06/09, signed and sealed by Warren W. Schaefer, P.E.

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO)

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. 2007 Florida Building Code compliance letter issued by W. W. Schaefer Engineering
& Consulting, P.A., dated 10/07/09, signed and sealed by Warren W. Schaefer, P.E.
2. No financial interest letter issued by W. W. Schaefer Engineering & Consulting, P.A,
dated 10/13/09, signed and sealed by Warren W. Schaefer, P.E.
3. Code compliance letters issued by Hurricane Test Laboratory, Inc., dated 09/29/03 and
‘ 09/30/09, signed and sealed by Vinu J. Abraham, P.E.

4/°

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 09-1015.11

Expiration Date: January 27, 2015
Approval Date: January 27, 2010



FEANEL LOAD TABLE [ SEE CORNER 60" MAX. FRAME WIDTH —-] JAMB ANCHORS TO SUBSTRATE PER ANCHOR PANEL ANCHOR SPACING/PRESSURE TABLE  [[™Weu |™Wws™
WITH SIDE CLIPS) | CONSTRUCTION : REQUIREMENTS TABLE ON SHEET 1. SEE WITH CONTINUOUS SIDE SUPPORT AN
) DESCRIPTIONS . ANCHOR SPACING TABLE ON THIS SHEET FOR ( NCETO S ANGLESTLé Ve GLE) A RN
PANEL (1) CLIP | A A ON THIS . 4" MAX. \SPACING & END DISTANCE.
Dr | G | AowBLE SHEET ™ [ X PANELSUBSTRATE ANCHORS| FRAME SCREWS _| ALOWABLE |5
(N | (N | (+/= PSF) \ N g —\ (N.) | SPACING [ END DIST.} SPACING | END DIST. |(4'/="psF)
5 70 [ —=202 15 ' (IN.) (IN.) (IN.) (IN.) -
; CONTINUGUS
36 13 104 19 z oo - 2 SUPPORT ANGLE 8 4 4 2 120
JAMB CLIP AT O=u 5 /
8 75 SIDES ONLY OPPOSITE L E Z © E ) MR 36 13 71/2 7.1/2 3 3/4 104 5
8 120 (ot (BT /BT Lo HTr29 D EB1 18 9 9 41/2 75 g
APPLICABLE  \_4 \_4 <~ ROwE Dng?” = s
42 13 89 WHEN_ LOWVER B S Fan® Sk of ‘ 8 4 4 2 120 g
IS SLEEVE { wTes = !
18 64 o Z HEES S mIcX I. 42 13 7 1/2 7 1/2 3 3/4 89 z
8 120 /B 783 - s —JAMB SPLICE 8 9 9 41/2| 64 g
48 13 78 9 \>/ '\;é ) WHEN REQUIRED 8" 4 4 2 120 |I*
= 7B » - ’ ] FOR STACKING .
18 56 = /B4 g\ 545_ 4" MAX. VAN = ] (SeE SECTON 48 13 71/2 71/2 3 3/4 78 S
8 120 = 6/= =l 47 MAX. YREVING 7 M /4 FOR 18 9 9 41/2 56
54 3 69 S JAMB SPLICE ' |5 ALLOWABLE DESIGN g 3;7 DETAIL). SPLICE 8 4 4 2 120
18 50 A GURED 5 PRESSURE | I o JEE——=] LOCATION To BE 5¢ [ 13 7172 | 71/2 | 33/4| 69
8 120 FOR STACKING = (S|NGLE LOUVER PANEL) & © o & 2 % 5 @ % {4 — BETWEEN BLADES. 18 9 8 4 1/2 50
60 13 62 (SEE SECTION |EISEE "PANEL LOAD TABLE'H] S22 WS 5 o “LOWER— 8 4 4 2 120 2
8 25 A1/4 FOR SION THIS SHEET FOR H| <, B0 Do Z—FRMEE—, —LOUVER (REF, 60 13 71/2 | 71/2 | 33/4] 62 S 8354
DETAIL). | ALLOWABLE PRESSURE. [ 2" a FnEE b £\ ELEVATIONS ON 8 9 9 +1/2] 4 2 52
(1) CLIP SPACING WITHIN SPLICE —" FE53 W T o T SHEET 1 & 2) / w5
SLEEVE MOUNTED LOUVERS LOCATION TO » L a 22 7 O &L |
MAY NOT VARY AND SHALL BE BETWEEN < 9 0.8
ALWAYS BE 8”. | all 7 2uin
= =0 [ep}
" MAX —f L " % m% g
EXTERIOR ELEVATION: : 4" MAX. () NOTE: SINGLE LOUVER PANELS MAY BE 'Q_J
SU'?EQRIT ANGLE TO LOUVER FRAME CONNECTION STACKED/SPLICED VERTICALLY OR THE P ~b-
SINGLE LOUVER PANEL S E R e & D Dance LOUVER PANEL MAY RUN VERTICALLY TO &
(ARCHlTECTURAL & NON—-ARCHITECTURAL INFINITE HEIGHT PROVIDING OPENING IS 3]
_ " - ) INTERIOR ELEVATION; PROPERLY DESIGNED BY OTHERS TO B
SCALE: 1/2" = 1'-0 SUPPORT THE LOUVER PANELS I E
(OPTIONAL SIDE JAMB INSTALLATION WITH : 4
n "
GENERAL NOTES: CONTINUQUS SIDE ANGLES) el 2 $
1. THESE LOUVER SYSTEMS HAVE BEEN TESTED, ANALYZED & APPROVED FOR DESIGN PRESSURES NOT TO EXCEED SCALE: 1/2" = 1'-0" SLEEVE r\SAi\L(ICBlr;GSEE)IEI:—ZDFCXT_O?\IG HORI’;?)N':ZL OR VERS: g x égé
THOSE SHOWN IN THE "ALLOWABLE DESIGN PRESSURE TABLE(S). -] R
f(.)AD%P%INT(};-ISE' ETURCUKc”#SRg BIUTcrgI:JELLFABngPHEgs MUST BE P(RO)PERLY DESIGNED & INSTALLED TO TRANSFER WIND (FOR DETALL NOT SHOWN, SEE OTHER ELEVATIONS) VERTICAL RUNS PROVIDING SPLICE DOES NOT OCCUR 9 Li'é ;”%
. RESPONSIBILITY OF THE PERMIT HOLDER TO VERIFY THE STRUCTURAL " o 5o°
INTEGRITY OF THE EXISTING STRUCTURE TO SUPPORT THE LOADS SUPERIMPOSED BY THE LOUVERS. WITHIN 127 OF ANY VERTICAL MULLION CENTERLINE. = | 2. B“x
g.PE cﬁ: AI;I_??D\{AIQE%O&,GEEASOTSNTESES S;ALL BE IN ACCORDANCE WITH THESE DRAWINGS & SHALL NOT VARY UNLESS el “e 3’%’5
AWINGS.  SPECI = E4
SPECIFCALLY MENT SPECIFIED ANCHOR EMBED TO BASE MATERIAL SHALL BE BEYOND WALL CORNER & BLADE END CONSTRUCTION: e | g5 Eoy
&CLTEE&DEZ\I%SR& SSFAE%FIE&TI%ESEsgnggN HEREIN REPRESENT THE PRODUCTS TESTED & PROPOSED FOR IMPACT, ANCHOR REQUIREMENTS TABLE FRAME HEAD: HORIZONTAL MEMBER IS SQUARE CUT, BUTTED TO ~ Qa £ ;’gf
TESTING IN CONFORMANCE WITH THE FLORIDA BUILDING CODE PROTOCALS OPENING TYPE c VERTICAL MEMBERS & FASTENED WITH TWO(2) NO. 7 X 1 1/4" =] Z 259
TAS—201, 202 & 203 FOR LARGE MISSILE IMPACT LOUVERS. (SUBSTRATE) FRAME CLIP TOT%E’EEN'NG FASTENER Méu'E“,‘EUDM EB‘(';E'M[E{“S‘T. SMS HEX HEAD SCREWS INTO THE HORIZONTAL MEMBERS SCREW E”N’ 0 (I_,g 2an
5. THESE LOUVER SYSTEMS HAVE BEEN DESIGNED IN ACCORDANCE WITH AND MEET THE REQUIREMENTS OF THE SPLINES. F< |z0™ 2,5
FLORIDA BUILDING CODE (FBC) INCLUDING HIGH VELOCITY HURRICANE ZONES (HVHZ). JAMB & NON-REINFORCED MULLION END CLIP ANCHORS FRAME SILL: VERTICAL MEMBERS ARE ANGLE CUT, BUTTED TO o A P
6. IMPACT SHUTTERS ARE NOT REQUIRED WITH THESE LOUVER SYSTEMS. MIN. 2X_ WOOD FRAME OR BUCK HORIZONTAL MEMBER & FASTENED WITH TWO(2) NO. 7 X 1 1/4" Z 2% 2tu
7. ALL ANCHORS SECURING LOUVER FRAME TO PRESSURE TREATED BUCKS OR WOOD FRAMING SHALL BE CAPABLE OF (MIN. GR. 3 & G=0.55) NO. 14 SMS OR WOOD SCREW 1.3/8" | 3/4 SMS SCREWS INTO THE VERTICAL MEMBERS SCREW SPLINES. 2 2. &
RESISTING CORROSION CAUSED BY THE PRESSURE TREATING CHEMICALS IN THE WOOD. - : BLADE END: HORIZONTAL BLADES ARE SQUARE CUT, BUTTED TO & 8= a
8. DETERMINE THE POSITIVE & NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING THESE DOCUMENTS IN MIN. 16 GA. 33 KSI METAL STUD|1/4—14 GR. 5 SELF TAP/DRILL SCREW| FULL 1/ VERTICAL MEMBERS & FASTENED WITH TWO(2) NO. 7 OR NO. 8 X
ACCORDANCE WITH THE GOVERNING CODE AND GOVERNING WIND VELOCITY. FOR WIND LOAD CALCULATIONS IN MIN. 1/8" THK A36 STEEL |1/4—14 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2" 1 1/4" SMS SCREWS INTO THE BLADE SCREW SPLINES. ui
ﬁgg(EJB?Ag?ENgA;%THE FLORIDA BUILDING CODE, A DIRECTIONALITY FACTOR OF Kd = 0.85 MAY BE APPLIED PER THE MIN. 1/8" THK 6063—T5 ALUM. 1/4_14 GR. 5 SELF TAP/DR'LL SCREW| FULL 1/2" ) o
9. NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE CERTIFICATION OF THIS PRODUCT. WIND LOAD ) MIN. C-90 CMU (1) 1/4” CONCRETE SCREW 11/4 2 ZI\\S b
?gR?ATL?gRIiﬁ(s:TOKCESDR <;1 .§U¥JAS USED FOR WOOD SCREW ANALYSIS ONLY. MIN. 3000 PSI CONCRETE {1 1/4” CONCRETE SCREW 11/2" 2 e g
. : NOT LIMITED TO STEEL SCREWS, THAT COME INTO CONTACT WITH OTHER DISSIMILAR
MATERIALS SHALL MEET THE REQUIREMENTS OF FLORIDA BUILDING CODE CHAPTER 20. TUBE MULLION END CLIP ANCHORS S x*" S
11. EACH LOUVER ASSEMBLY SHALL BE PERMANENTLY LABELED AS FOLLOWS: MIN. 2X_ WOOD FRAME OR BUCK " " = NG
WYALUSING, PA - Appgwedaspmnplmmb LnJl by o
S P UNTY PRODUCT CONTROL. APPROVED MIN. 16 GA. 33 KSI METAL STUD|1/4—14 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2 \ o W ON|E
12. THESE LOUVERS ARE NOT TESTED FOR WATER INFILTRATION RESISTANCE, THEREFORE THE LOUVERS ARE TO BE MIN. 1/8" THK A36 STEEL _ |1/4-14 GR. 5 SELF TAP/DRILL SCREW| FULL /2 Date 1 /2 44 ¢
INSTALLED IN A LOCATION WHERE THE ROOM BEHIND THE LOUVER IS DESIGNED TO DRAIN WATER PENETRATING INTO MIN. 1/8" THK 6063-T5 ALUM. |1/4-14 GR. 5 SELF TAP/DRILL SCREW| FULL /2" NOA# - v =
1T;IE MRL?L(l)_bélb ,bg\lAI:,)\l ETLI-éE MI?A()YOEEWII_II_CI)_Rll-ZIgL’\JéELI\_NYAHﬁI;TRESEIST,?_I(\IJT{AWATER PROOF EQUIPMENT, COMPONENTS OR SUPPLIES. 3000 PSI CONCRETE @ 172" WEDGE ANCHOR 31/2° 3 s e
, ALL N UNLIMITED NUMBER. VERTICAL STACKING OF MULLED : :
PANELS MAY OCCUR PROVIDING A STRUCTURAL SUPPORT IS DESIGNED & INSTALLED BY OTHERS TO SUPPORT ALL M ﬁﬁ’_’#mi_%CORNEVf (aiélf)l-ENBEED EsLTCE%LUBLRAsC(s)';S' (TW RAMSET/RED HEAD TAPCONS OR 1686
h%AL;AsU JSS:SEE(I?SETDS)FROM THE LOUVER ASSEMBLY (SINGLE PANELS MAY RUN TO UNLIMITED HEIGHT PER ELEVATION IF | () WEDGE ANCHORS SHALL BE HILTI STAINLESS STEEL KWIK BOLT 3 SHEET NO.
: (3) CMU IS APPLICABLE AT SIDES ONLY. 1 o 10




MULLION ALLOWABLE DESIGN PRESSURE Z::I’.‘R.ﬁ.“ :::w'fﬁ.“
(NON—ARCHITECTURAL LOUVERS) 50" VA 50" A 50" MAX. R
MAXIMUM | MAXIMUM ALLOWABLE PRESSURE FRAME WIDTH FRAME WIDTH FRAME WIDTH i
MULLION | LOAD (+/- PSF) (ATYADY (DTYDZYDIVDAYD5Y -
SPAN | WIDTH Wit NO TUBE |WITH 47X3'X3/16” [WITH 4'X3"X1/4" ININBABAY/ N
(IN.) (IN.) MULLION TUBE MULLION | TUBE MULLION i i ! .
60 30.6 46.1 61.4 ’ | I 5
54 34.0 51.2 68.3 W , I I 1 £
48 38.3 57.6 76.8 % : | | : 5
42 43.7 65.8 87.8 i I ; I OPPOSITE a
x> 7| i 4 vd
120 36 51.0 76.8 102.4 ao @ = EE'_V -\g = :'f?1€ < 5
30 61.2 92.2 120.0 27 AN 7t e =7 g
24 76.5 115.2 120.0 =k \4_/ . Lo Al ‘o Al . \ﬁé .
18 102.0 120.0 120.0 ==z /B3 I | i 783 z
60 42.0 63.2 84.3 o g I il ‘\‘BS4
e S5 750 053 -z I ALLOWABLE DESIGN ! 5
- - : = 5 PRESSURE
108 42 60.0 90.3 120.0 22 I I A
36 70.0 105.3 120.0 TF : IE (MULTIPLE I : 2y
30 84.0 120.0 120.0 £38 IE NON_AF?ACNHI___'E?TURAL I Q 0o
24 104.9 120.0 120.0 & u Ii5 I MENE
18 120.0 120.0 120.0 o2 Il SEE MULLION  F QLT
60 56.3 90.0 120.0 <" l§ PRESSURE TABLE Hi 59 ..
54 62.5 100.0 120.0 . : IIE ON THIS SHEET Hi : & 291
48 70.3 112.5 120.0 o ' ! I : x U
96 42 80.4 120.0 120.0 ‘ I I < ¥8g”
36 93.8 120.0 120.0 ! i . N
30 1125 120.0 120.0 -/ q 4 It
24 120.0 120.0 120.0 FOR LOCATIONS OF s IR
60 64.3 120.0 120.0 JAMB CLIPS, SEE ~— MULLION LOAD WIDTH —=t=— MULLION LOAD WIDTH —= e
54 71.4 120.0 120.0 SINGLE PANEL PANEL PANEL PANEL L B
84 48 80.4 120.0 120.0 %h%AEgX‘M éNCs);EICE CENTERLINE CENTERLINE CENTERLINE Z:’ o g
2 i 222 s DOES NOT APPLY TO EXTERIOR ELEVATION; sl & %
30 120.0 1200 120.0 MULLED UNITS) MULITPLIE LOUVER PANELS Q| z2 ez
50 75.0 120.0 120.0 (NON—ARCHITECTURAL) 5| 2aiis
54 83.3 120.0 120.0 SCALE: 1/2" = 1'-0" £ 255
72 48 93.8 120.0 120.0 (3 PANEL UNIT SHOWN; MORE THAN = ﬁ;‘) §§§
42 107.1 120.0 120.0 3 PANELS MAY BE MULLED/STACKED L ;gg ggg
36 120.0 120.0 120.0 HORIZONTALLY) Eo 258 28T
60 90.0 120.0 120.0 o §;..'a ‘é?gﬁ
50 54 100.0 120.0 120.0 N Chl
48 112.5 120.0 120.0 c o= x
42 120.0 120.0 120.0 .
.8 60 1125 120.0 120.0 o <
54 120.0 120.0 120.0 g|\"—“ {5
42 60 120.0 120.0 120.0 =N S
NOTES; | = bf‘\ 7
[ 1. SEE ELEVATION FOR DIMENSIONING OF LOAD WIDTH. RV
2. ALLOWABLE UNIT PRESSURE SHALL BE THE LESSER OF THE PRESSURE Approved os complying wihthe  [|O O &
SHOWN IN THIS TABLE & THAT SPECIFIED FOR THE INDIVIDUAL LOUVER ida Byilding &
PANEL. =
DF;AgNSGGNO. REV.
SHEET NO.
2 o 10




MULLION ALLOWABLE
DESIGN PRESSURE

(ARCHlTECTURAL
LOUVERS)
MAXIMUM | MAXIMUM|  ALLOWABLE
MULLION | LOAD PRESSURE
SPAN | WIDTH | (4+/- PSF)
(N.) (IN.)
60 61.4
54 683
48 76.8
120 47 87.8
36 102.4
30 120.0
60 84.3
54 93.6
108 8 105.3
47 120.0
96 60 120.0
NOTES:

1. SEE ELEVATION FOR DIMENSIONING
OF LOAD WIDTH.

2. ALLOWABLE UNIT PRESSURE SHALL
BE THE LESSER OF THE PRESSURE
SHOWN IN THIS TABLE & THAT
SPECIFIED FOR THE INDIVIDUAL
LOUVER PANEL.

/

FOR LOCATIONS OF JAMB CLIPS,

SEE SINGLE PANEL ELEVATION

(NOTE THAT FRAME SPLICE
DOES NOT APPLY TO MULLED
UNITS)

EXTERIOR ELEVATION;

MULITPLIE LOUVER PANELS

(ARCHITECTURAL)

SCALE: 1/2" = 1'-0"

(3 PANEL UNIT SHOWN; MORE THAN
3 PANELS MAY BE MULLED/STACKED
HORIZONTALLY)

60 3/8” MAX. .59 7/16” MAX. 60 3/8" MAX.
1/8” MAX. GAP —wler 1+ 1/8" MAX. GAP
(ATY AN (CTYTZYTI
N, \SAEAE/
— OPPQSITE]
(BN 7EY 7EY 7B
7 )| E= P === \9 =2 \ 4
= (B2) "zé
S \4/ {4
£ /B {5
W \> ./ =\ 5
<§: /B4 7 B4
£ \8/ 15
< ALLOWABLE DESIGN
< PRESSURE
=o (MULTIPLE ARCHITECTURAL
= PANELS)
SEE MULLION
PRESSURE TABLE
/ ON THIS SHEET
( (

W.RM.

DRAWN BY: CHECKED BY:

WWS,

PLOT:

DATE:
1=24 07/23/09

DATE

BY

REVISION DESCRIPTION

NO.

R
. O
g 859
= Lo
_lﬁ’d-
w =<, ™
o x|
Z(’T) 0
3500
<D(_)|
mZZ
_LIJO)
X Hrg
<< O
Q—_I
~ o

o

w

@

=

=

Q

HE

Q =
@ 3
x| 2 . 39
S| 2 S
S| W bR
ol Y<.k!
— Y =
O™ pe
[y Z - >
Q WO by
<C Z =3
a X~ O
= W, %o
= LD a&cQ
Win .1
o <Z S5©
b ON Lo =a3R
r_Jl.D &Oo .a |
< |z 0T 2,5
o P 22?
4 > = © Q5
= ] o =z
E |5 ¢
- O; a

s,
AN
5,

CERTIFICATION

[~2]
QD
\\LLQS\\
(o]
=}

[raRe
DRAWING NO.

1686

SHEET NO.

3 oF

10

~J



BACKER ROD &

SUBSTRATE BY

CAULK BY OTHERs  \OTHERS
1/2" MAX.
[ space
CLIP ANCHOR
PER ANCHOR
t> REQUIREMENTS
TABLE ON
® SHEET 1
- ;
2 MAX LAY H
N
EXTERIOR
'_
I
5
L
I
W JAMB SPLICE —J//
2 (MULLION SPLICE
& IS NOT PART OF

THIS APPROVAL)

7

o] —

~ (SHIM AS REQ'D)

OPTIONAL
SILL PAN

1/2" MAX. SPACE

OTHERS

SECTION

(AN

SCALE: 1/2 FULL \ 4/

SUBSTRATE BY

BACKER ROD &
CAULK BY OTHERS

OTHERS

| SPACE

SUBSTRATE BY

1/2” MAX.

o

VARTTINDY

FRAME HEIGHT

)

2" MAX
f \ 1/8" x 1"
WELD EACH
EXTERIOR /<E;%\ SIDE

JAMB SPLICE —/

(MULLION SPLICE

IS NOT PART OF

THIS APPROVAL)

OaN

N

OPTIONAL
SILL PAN

1/2” MAX. SPACE

~ (SHIM AS REQ'D)

LY

SUBSTRATE BY
OTHERS

SECTION

(A2

SCALE: 1/2 FULL \ 4/
(SLEEVE MOUNT)

CLIP /JAMB
ANCHOR PER
ANCHOR
REQUIREMENTS
TABLE ON
SHEET 1

SUBSTRATE BY
OTHERS

BACKER ROD

CAULK BY OTHERS

1/2" MAX. SPACE —

QTR

&

SECTION

14120

FRAME WIDTH —

(B

SCALE: 1/2 FULL \ 4/
(NO SLEEVE & CLIPS TURNED OUT)

CLIP/JAMB
ANCHOR PER
ANCHOR
REQUIREMENTS
TABLE ON
SHEET 1

SUBSTRATE BY
OTHERS

BACKER ROD &

CAULK BY OTHERS

1/2" MAX. SPACE —

<A

SECTION

[EXTERIOR]

FRAME WIDTH —

(B2

SCALE: 1/2 FULL \ 4/
(NO SLEEVE & CLIPS TURNED IN)

CHECKED BY:
WRM. LA KX

PLOT: DATE:
1=4 07/23/09
w
<C
o
&
4
Q
=
o
|74
Q
wn
L
o
4
Q
[
]
[/
g
4
()]
=g
: O
O ¥xOp
4 -
- _|<"¢
| <_E>_m
O x|
Z ="
S 0un
<C DQL?
m sz
T
'g]
E hEg
< O
¢J
~ L
x
[
@
2
3
'_ =z
n |z
>
@ 8
el 2 %
Sl 2 e
S| W, 43
wl jo |
o Z< wro
- =pn £ 8
— | 8%z
ol Gu a4%
< Z 35
o e Foqy
= wa , &0
= LD 69
W o1
o <Z 5P
L. ] T8 58
=0 |00 o
< |z W 255
|5 éln_l'n
- g @<L
< o2 @@ G
= ] o Z
s 8 g
] o= a
Li
a
z Z3
o
= 3
< T
Q og
L ™RZ
[ R
@ e
& zZo
[14
a4
<
=

DRAWING NO. [REv.

1686

SHEET NO.

4 o 10




DRAWN BY: CHECKED BY:

SUBSTRATE BY FLO:.R.M. oATE‘-”.S.
OTHERS TUBE MULLION CLIP L 37/23/09

EACKERBROD & ANCHORS PER ANCHOR "
AULK BY OTHERS 8t REQUIREMENTS TABLE ON 5
e 1/2" MAX. SHEET 1 (4 PER CLIP)
[ space
4
:
H ©
4" MAX. &
T :
SUBSTRATE BY EXTERIOR ! &
OTHERS 1
]
BACKER ROD & : -
CAULK BY OTHERS
EXTERIOR '
1/2” MAX. SPACE —~ FRAME WIDTH —— \f O
I _— MULLION cLIP
SECTION /53 = | ANCHORS D
B 5 1 REF 5 23
SCALE: 1/2 FULL \5/ o (REF.) g oo
% | =z _,;O
(WITH SLEEVE & CLIPS TURNED OUT) | 9 w I, o
W TT | Q XL |
e | S Z5h . ©
o < = = 5 N -NM)
[ B Wi
| q g <L 00
/_@ | M zz,
) 1l _ EACH EDGE || 8" Max. oc. SN ® oD
1/87]/15 “OF ANGLE qrofNE L < 1o
TLIIL | J d D iLI_
» =
0 | © 1 3/4 = g
I 0 O] w2
I <
0 s 0 |5
@ o+ ® ,, ,, oo @
SUBSTRATE BY | | /!'/ 5" MAX /2"~ = — —1/2 ul 2 &)
OTHERS ' ; 3| G, IsR
(4 | (@/ /L 1 3/4 3| Y58
BACKER ROD & - —= 1 = (FOR DETAIL NOT SHOWN | 2 .Ae)
CAULK BY OTHERS ' : TUBE MULLION CLIP ' Q| @g a4
: : SEE SECTION E/9 4 Z 35
) EXTERIOR ANCHORS PER ANCHOR /9) | ®F 8y
1/2" MAX. SPACE —] FRAME WIDTH —= SILT PAN REQUIREMENTS TABLE ON = &R &8¢
) S S SHEET 1 (5 PER CLIP LS| £2 338
SECTION e | 1/2" MAX. SPACE INOT WOOD SUBSTRATE; 4 £ 200 8]
SCALE: 1/2 FULL \5&/ (SHIM AS REQ'D) PER CLIP INTO ALL Al BT
OTHER SUBSTRATES) s |2 %8
(WITH SLEEVE & CLIPS TURNED IN) SUBSTRATE BY OTHERS SECTION /TN |5 z
SCALE: 1/2 FULL \5./ _
(ARCHITECTURAL LOUVER WITHOUT PERIMETER ©
o
SLEEVE; INSTALLED INTO WOQOD, STEEL, 8 i
= <
ALUMINUM, OR METAL STUD SUBSTRATE) S %d
= et NS
o g i
Approved as complying with the o :_—u) o
ing Code o

WARREN

—— e et
DRAWING NO. |R

1686

SHEET NO.

5 o 10

2




OTHERS

SUBSTRATE BY

TUBE MULLION CLIP
ANCHOR PER
ANCHOR
REQUIREMENTS
TABLE ON SHEET 1
(1 PER CLIP)

[EXTERIOR]

me
~-®

?
N———ama

//AD

& ©

SUBSTRATE BY OTHERS

SECTION

TUBE MULLION CLiP
ANCHOR PER
ANCHOR
REQUIREMENTS
TABLE ON SHEET 1
(1 PER CUP)

(C2

SCALE: 1/2 FULL \ 6/
(ARCHITECTURAL LOUVER WITHOUT PERIMETER
SLEEVE: INSTALLED INTO CONCRETE SUBSTRATE)
(FOR DETAIL NOT SHOWN, SEE SECTION C1/5)

MULLION CLIP
ANCHORS

\/\ T (REF.) P
|

40X

D

L

ANNANNA
L — it
O
A, | f
(FOR DETAIL NOT SHOWN,
SEE SECTION E/9)
4 PER ANGLE

(1 AT EACH CORNER)

3/16]/ 1.5" LONG
A i

I

BACKER SUBSTRATE BY e = 1/47 MAX.
ROD & OTHERS

CAULK BY

OTHERS

1/2" MAX
[ space

[ExteRioR] V

FRAME HEIGHT

© © ©0

RN

Lavsvny

Fa XA
ARENENN

[
|
|
i
l
|
|
|
|
|
|
//r{:) : 4 1/2
|
|
|
|
|
|
i
|
|

N |
| oD
| ©O—
|
(@)
| 1 1/2"
: o 0.C.
12) |
| ©
a
/\/ AJA\/ 1—41”
(FOR DETAIL NOT SHOWN,
SEE SECTION E/9) )

ST

| 1/2" MAX. SPACE _//
(SHIM AS REQ'D) SUBSTRATE BY OTHERS

SECTION /TN
SCALE: 1/2 FULL \8/

(ARCHITECTURAL LOUVER WITH PERIMETER
SLEEVE; INSTALLED INTO ALL SUBSTRATES)
(FOR DETAIL NOT SHOWN, SEE SECTION C1/5)

POSITION OF THE SLEEVE PERIMETER SUPPORT ANGLE
VARIES WITH SUBSTRATE THICKNESS & MAY BE
POSITIONED UNDER THE MULLION END SUPPORT
ANGLE. WHEN THIS OCCURS, THE SLEEVE ANGLE
ATTACHMNENT SCREWS SHALL MOVE WITH THE ANGLE
& MAY BE POSITIONED TO RUN THROUGH THE
MULLION END ANGLE AND SLEEVE.

DRAWN BY: CHECKED BY:
W.RM. WW.S.

PLOT: DATE:
1=

4 07/23/09
("1}
Z
a
z
o
(e
14
Q
7]
L
a
z
(o]
[
P
'3
o
z
(]
2
: O
g 25
= )
_I‘f'¢
w j<_:>_m
O x|
Z =" 0
3 550
<C QQL?
a1] sz
Tl
14 Q:Ln
= un
< rqOOO
¢J
N
o
wl
x
=
=
Q
z |
% |E
>
@ 2
el 2 %
wl = Qo
Yl 2 See
2 Lo
o Y<
J) Z4E §
o 32
- Zz - <
Q WO LHgg
< Z 25
o X Fown
=2 W S9
= LD aes
wo 11
o <Z 59
N Io FREN
0 [POG ol
= <C z W Zzg
f—: am.ﬂﬂ
= o< .
Z S © Qi
= %) © oz
: kB
a) o= a

. SCHAEFER, P.E.
NO. 44135

CERTIFICATION

z
u.:eg
o

12

<

=
EV.

M —
DRAWING NO. |R

1686

SHEET NO.

6 o 10




DRAWN BY: CHECKED BY:

MULLION CLIP ANCHORS 3/4” —] R
—~— SUBSTRATE BY CET LU
PER ANCHOR w 3/ OTHERS - r
SUBSTRATE BY REQUIREMENTS TABLE ON / © T BACKER ROD & .
OTHERS SHEET 1 (8 PER CLIP) ; o CAULK BY OTHERS 3
q
& ] Wil } 1/2" MAX. . /_@ .
BACKER ROD & T [ sPACE — o
CAULK BY OTHERS T’ ih © 3/4" b :
r1/2" MAX. :|> T OMIN. i \—@ g
SPACE it , o 3
0) 19 /r@ = a
_—j I3l N u“ ‘I‘L‘ © & R -
@'\ \—@ = ZANGD) :
== OO 10OV I‘l‘ ‘I‘I‘ ‘O 8 — =
~© g
Larvsniimi| (o) =
EXTERIOR
oy ©
any o)
<N
= : OY
@'\ o N1 MULLION cLP S 2 x2g
/\F | ANCHORS (REF.) T N
— [WH] (O] Df; |
5 2 0.3
m i | — o é 241
L - 28
2 — L3 A g g5
m n
o 2" MAX. g o @_f_ T N id
—— o_o_o_o_o 'o_o_ o 2 , E
® . ] -+ — | = g
7 EQ. SPACES 7/8 H 2
@1 1/2" 0C. AT ENDS & R
‘——v v MIDDLE; o[ =
3/16]/ 2" \ EACH EDGE el @ . %
OF ANGLE ¥l = Row
2 W oﬁ'?
V' S| ass
o ( £ —— & | xE 25,
g =] W358
J/ : / OP%)NAL\"’ c\. =1 L3 ,Eé-;‘.*
< <ot SILL PAN \ @ LQ §g 23R
3 s 20 1290 zol
gt [ /2" MAX. SPACE @ A ENPEE
SILL PAN S~ H—/MULLION CUP (SHM AS REQ'D) SUBSTRATE BY I CEl
1/2" MAX SPACE ANCHORS PER \ﬂ | g1 L SECT'ON 62\ OTHERS g 8;’ E
~ (SHIM AS REQ'D) ANCHOR = ) [ WELDS 7 EQ. SPACES SCALE: 1/2 FULL 7/ ,
SUBSTRATE BY OTHERS TBLE ON ol AT1I/2706 (NON-ARCHITECTURAL LOUVER WITH o
SECTION SHEET 1 (8 PERIMETER SLEEVE & WITHOUT TUBE MULLION; z A ‘% i
= , <
SCALE. 1/2 FULL @ PER CLIP) it INSTALLED INTO ALL SUBSTRATES) SIENNYIES
. o (/)O
(NON—ARCHITECTURAL LOUVER WITHOUT juli (FOR DETAIL NOT SHOWN, SEE SECTION D1/7) = z
PERIMETER SLEEVE & WITHOUT TUBE POSITION OF THE SLEEVE PERIMETER SUPPORT ANGLE & 3
MULLION; INSTALLED INTO ALL Approved as complying with the il VARIES WITH SUBSTRATE THICKNESS & MAY BE &
Flovida Code POSITIONED UNDER THE MULLION END SUPPORT e
SUBSTRATES) Date 2. 2 - ANGLE. WHEN THIS OCCURS, THE SLEEVE ANGLE I
NOA# Ll -3 ATTACHMNENT SCREWS SHALL MOVE WITH THE ANGLE 1686 |
% N & MAY BE POSITIONED TO RUN THROUGH THE e
oy__% MULLION END ANGLE AND SLEEVE. 7 o 10




MULLION CLIP ANCHORS
PER ANCHOR
SUBSTRATE gy  REQUIREMENTS TABLE ON
OTHERS SHEET 1 (4 PER CLIP)

LERIRYLIENY)
L RRARENNNLYY

b

R R [y agor g

Ledrian

JII

65168)

8" MAX. O.C.

RN

5" MAX.

g g S AR, R Y

4

T

Rexrssrasnissi
Learireranivigamil

TUBE MULLION CLIP
ANCHORS PER ANCHOR
REQUIREMENTS TABLE ON

SHEET 1 (5 PER CLIP
INTO WOOD SUBSTRATE; 4
PER CLIP INTO ALL

SCALE: 1/2 FULL \&. OTHER SUBSTRATES)
(NON—ARCHITECTURAL LOUVER WITHOUT
PERIMETER SLEEVE & WITH TUBE MULLION;
INSTALLED INTO WOOD, STEEL, ALUMINUMWsmM“

& METAL STUD SUBSTRATES) Hanly” 20

(FOR DETAIL NOT SHOWN, SEE SECTION D1/7) "gﬁm el

/

SUBSTRATE
BY OTHERS

SECTION  /53\

10

VAs ° oln
i

IO IO AT [ 1 > @
) i
=
Ll

X

2 A0 IO AN

=

©
o 13/4"
A,/ o © —J—r

1/2"—f
1/2" —f | | |—1/2"
1 3/4"

(FOR DETAIL NOT SHOWN,
SEE SECTION F1/9)

MULLION CLIP
ANCHORS
(REF.) 1

My
-
%L___L
11/2"
"\ |

(FOR DETAIL NOT SHOWN,
SEE SECTION F1/9)

OPTION: USE A CONTINUOUS 1 1/2" X 1 1/2" X 1/8"
6063—T5 ALUMINUM ANGLE IN LIEU OF INDIVIDUAL
ANGLES PART #15. ATTACH CONTINUQUS ANGLE TO
TUBE MULLION WITH 1/4-14 X 3/4" SELFTAP/DRILL
SCREW WITHIN 5" OF TUBE ENDS & 8" MAX. O.C.
ATTACH CONTINUOUS ANGLE TO LOUVER FRAME WITH
1/4—14 X 3/4” SELF TAP/DRILL SCREWS WITHIN 5"
OF FRAME ENDS & 4" 0.C.

MULLION CLIP ANCHOR

PER ANCHOR
SUBSTRATE By REQUIREMENTS TABLE ON
OTHERS SHEET 1 (1 PER CLIP)

<L

o

NI

- =27

<Oy

2

MULLION CLIP
ANCHOR PER
ANCHOR
REQUIREMENTS

SUBSTRATE TABLE ON
BY OTHERS SECTION /o2 SHEET 1 (1
SCALE: 1/2 FULL \38/ PER CLIP)

(NON—ARCHITECTURAL LOUVER WITHOUT
PERIMETER SLEEVE & WITH TUBE MULLION;

INSTALLED INTO CONCRETE SUBSTRATE)
(FOR DETAIL NOT SHOWN, SEE SECTION D3/8)

DRAWN BY: CHECKED BY:
WRM. WWS.

PLOT: DATE:
1=4 07/23/09
=
<
()]
>
@
r4
[]
=
o
o
Q
0
w
a
z
e}
7]
]
o
)
z
(o)
2g
S B3¢
£ O
| <_(>_m
O x|
32,8
& 22
b
.._.LIJ%
E hxg
< O
<
g™
@
w
(14
)
[=a
Q
R E
=
>
« 3
el 2 ¢
>| & Feg
2 H< UE'T
S Z0E o
o z2z2°
=l Z %%
ol Go QQE
& l:l:Z 2y
- o
> W %o
- h:) £0%
ol <2554
o O o =38
=0 12POG o
E< ZNT Z2,5
) 58237
= o= © 4 ij
= v o Zz
> & o 2
- O; o
L
a.
ra
b4 L)
®) g
= <%
(@] O~
C 72
= .
F]
o

DEC’
o WARR,IEQF?E .

DRAWING NO. R

1686

SHEET NO.

8 o 10




BACKER SUBSTRATE BY — |— 1/4" MAX - s
ROD & = 4+ PER ANGLE @ 1=4 07/23/09
, CAULK. BY OTHERS \ 17 \3/16 [/ 1.5" LONG N (1 AT EACH CORNER) /_@ ;Hm;
OTHERS .
1/2" MAX. q" ® @\
SPACE . 16 @\ { /@ 5
% | e gl i @—\ JI :mﬁ::g /—@ §
7 g B "5 &
” ' \ , m] v g
1.1/2 5 3 /—@ &
\@ 0.C. \I’ -=(28) T < z
! T T n g il
) oON= ; ON : ;
, H -1 L © :
l I d
| ‘”,1 8" MAX ‘/ EXTERIOR
/A | | L / @ EmR
' d | SECTION & SECTION /&
! | I l SCALE: 1/2 FULL \9 SCALE: 1/2 FULL \9/ N
S ; © | @ O (ARCHITECTURAL LOUVER  (NoN_ARCHITECTURAL LOUVER g 83,
T ! MULLION £ %o
" | 15}-+—— SEE OPTION ON | @ | , ) WITH TUBE MULLION) w23
= | SHEET 8 11/2 Q XL |
< | | | 0.C. 25 .@
i , | | © | /@ - 4824 ——’ 3 240
, | DL l A = 0078 @ Zz,
l | | O— SO 2.250 ' L 0z
' l ] i 4V Ouem s
, | % N ! | : d @ g
r | I " 4 .-; L* 5
l @) (FOR DETAIL NOT SHOWN, n . 32 °.078 “" s I
l/_' SEE SECTION F1/9) _ g =NF
J >
@ (9 0.078 —{~ 2
x . 2
e 57— | 1.250 SECTION 773 5250 g B s
= JF__E SCALE: 1/2 FULL \ 9/ 3 (Lé:c‘f g"jé
—> 1 0078 (NON=ARCHITECTURAL LOUVER R @ SILL ,___} 51 8 Gas
J — 0000 == o WITH NO TUBE MULLION) T | o 82,
3 . c = W, o
5 5.787 : 2| WP ;58
% DEPTH AS REQUIRED - 4824 ol 9251
\ TO WORK WITH T udN | TS 53R
L 172" MAX. SPACE il OPENING SUBSTRATE E2 |25390 =2
(SHIM AS REQ'D) SUBSTRATE BY OTHERS R J @ i | 2.297 0.060 e [Sx®83°
SECTION /g3 A 1.500 - 4V ®aue R : 5. C @
SILL_PAN (OPTIONAL) ' 0.125 SLEEVE 0.080 N CES £
SCALE: 1/2 FULL \9_/ ® MIN. © sine " 3.000 f~
(NON—ARCHITECTURAL LOUVER WITH ' u
PERIMETER SLEEVE & WITH TUBE MULLION; ‘( 3.000 “ —  3.000 “ - s
INSTALLED INTO ALL SUBSTRATES) 5.470 ‘ l 2 93
(FOR DETAIL NOT SHOWN, SEE SECTION D3/8) 5.000 g 39
1.598 0078 4000 [10.188 —||-— 4.000 ]0.250 —{ |~ 0.250 = = . = i
POSITION OF THE SLEEVE PERIMETER SUPPORT ANGLE ‘ Approved ss comnplying with the © g §
VARIES WITH SUBSTRATE THICKNESS & MAY BE ! o e o g
POSITIONED UNDER THE MULLION END SUPPORT (7) BLADE_SUPPORT NOAF o= =
ANGLE.  WHEN THIS OCCURS, THE SLEEVE ANGLE BRACKET Missi Control VYT o 1o
ATTACHMNENT SCREWS SHALL MOVE WITH THE ANGLE TUBE MULLION (USED TUBE MULLION (USED (9) TUBE MULLION (UsED o-% 1686
& MAY BE POSITIONED TO RUN THROUGH THE WITH NON— WITH NON— WITH ARCHITECTURAL By o SHEET NG,
MULLION END ANGLE AND SLEEVF. ARCHITECTURAL_LQUVERS) ARCHITECTURAL LOUVERS) LOUVERS) ! 9 o 10

IWDRAWN ar:
W.RM.

CHECKED BY:




i

mem ¢ | ITEM DESCRIPTION MANUFAC?URER/NOTES [[Pravn Bv: - |cHecken
— 2.750 |~ —{ 2750 |=— 3" MIN. PARTS [Fro. W /e
—| 10500 (7P s 7" A e 506376 ALLMNN
‘ 9/32" DIA ‘ : 3 [sIL Pan 6063-T5 ALUMINUM "'g-’
0.750 LoLES | — = 0.250 4 |JAMB 6063~T6 ALUMINUM
—*—-Q & 1.500 L 9/16" DIA. i 5 | SLEEVE 5052-H32 ALUMINUM
3.000 . 0.750 6 |BLADE 6063-T6_ALUMINUM &
& 3.000 T HOLES —f—_ﬂ} __ 7 | BLADE SUPPORT BRACKET 6063—T6_ALUMINUM
L & & 2 000 8A |TUBE MULLION (USED WITH NON— 6063-T6 OR 6061-T6 ALUMINUM -
4.000 = ARCHITECTURAL LOUVERS) S
0.500 _f 1.375 375 i | G} i 88 [TUBE MULLION (USED WITH NON— 6063-T6 OR 6061-T6 ALUMINUM s
. A ARCHITECTURAL LOUVERS) 9
1.375 ‘ 0.250 \ \ 9 [TUBE MULLION (USED WITH 6063—-T6 OR 6061~T6 ALUMINUM &
; — ~—0.250 ~ ) ARCHITECTURAL LOUVERS) 3
| 0.750 | @\ 1l AS REQ'D FOR PROPER 10 [MULLION END INSTALLATION CLIP 6061-T6 ALUMINUM 2
0.750 | 1 ~_] ., FIT WITH TUBE & AND SLEEVE 11 |MULLION END INSTALLATION CLIP 6061-T6 ALUMINUM g
f ] @\ 4.000 2:000 H9/16" DIA. (NO LESS THAN 1) 12 [MULLION END CUP FOR SLEEVE 6061—T6 ALUMINUM i
2.000 ™~ 9/16" DIA. : HOLES MOUNT LOUVERS g
4.000 HOLES —G} H @ MULLION EN IP_FOR 13 |MULLION END (NSTALLATION CLIP 6061-T6 ALUMINUM
L @ 1 SLEEVE MQUNT LOUVERS 14 |LOUVER JAMB TO SUBSTRATE CLIP 6063-T5 ALUMINUM
B — 15 |SLEEVE OR TUBE MULLION TO LOUVER 6063—T5 ALUMINUM (WITHIN 4"
. — .\ MULLION JAMB CLIP OR TUBE MULLION EFSDS ATJD4MEXF. tssEEchE.)CORNERS
@ _ﬂ r 0.125 | 16 |TUBE MULLION TO LOUVER BLADE ANGLE |6063—T5 ALUMINUM
‘ NULTLAIQNTIE,:JQ o INSTALLATION CLIP ety (ARCHITECTURAL LOUVER) o
IR 17 _[SLEEVE SUPPORT ANGLE 6063—T5 ALUMINUM <
12,000 b 1.500 18 [LOUVER JAMB TO SUBSTRATE CLIP 6063—T5 ALUMINUM <2> 3 o
' 19 [MULLION COVER 6063-T5 ALUMINUM £ —O
} v g
| 7 SPACES @ 1.5” - 0.750 (TYP.) 1.500 AS REQ'D IN FIELD B COIN0uS. SUPFORT ANGLE SR To ALY W =, ™
GLE 6063—T5 ALUMINUM O x|
I 0.750 I 0.375 (TYP.) — I" l’ | MISC. FASTENERS Z5
o i 25 [1/4-14 X 3/4” SELF TAP/DRILL SCREW |2 PER CLIP 210
2.250 f @ ¢ ¢ ¢ » é o
3.000 MIN. 9/32" DIA—] %—f— 1.500 26 |1/4-14 X 3/4" SELF TAP/DRILL SCREW |WITHIN 4" OF CORNERS & SLEEVE SPLICES & MAX. o =S o
i & ﬁ} & & HOLES E 8" 0.C. (CLUSTERED AT MULLION ENDS PER DETAILS) x Ho
i i £ i i i i 1 LOUVER JAMB To } 27 _}1/4-14 X 3/4” SELF TAP/DRILL SCREW |8" 0.C. PER SECTIONS < 55%®
] ] ! i ] ! ‘ LOUVER JAMB TO 28 [1/4—14 X 3/4" SELF TAP/DRILL SCREW |4 AT HEAD & 2 PER BLADE <~
9/32” DIA. SUBSTRATE CLIP 29 [1/2” X 5" A307 HEX HEAD PLATED STEEL|2 PER MULLION END e
HOLES 0.375 0 250 . OR S/STL NUT & BOLT &
. HOLE 30 |1/4-14 X 3/4" SELF TAP/DRILL SCREW [10 PER CLIP S
% O i— 0. 125 X . Q
-/ [ NOT REQ'D WHEN 31 |1/4-14 X 3/4" SELF TAP/DRILL SCREW |1 PER CLIP = i
& o & & o lo o Q_ i (TO SLEEVE) 32_INO. 7 X 1/2" SMS SCREW WITHIN 6" OF CORNERS & 24" MAX. O.C. 3 B
_________________ ©&—-1.500 33 |1/4-14 X 3/4" SELF TAP/DRILL SCREW |SEE ANCHOR SPACING/PRESSURE TABLE ‘>’_’ =
TABLE_FOR SPACING REQUIREMENTS n n
0.750 — 7 EQ. SPACES 0-875 1.500 5 2 3 %2
@ 11/2" oC. 0.375 (TYP.) — Iv [ 0410 0.125 = é<- 335
(13) MULLION END INSTALLATION CLIP y P Q_f_ 1750 7 3 = 2| 2 L%
9/32" DIA—" 1.500 } =l Z 9%
(@) WO Sz
o HOLES@ cem o f | oo 1.5 T0 3" A PEED
E E * = W oey
= z&o
ON_T0 LOUVER 0.829 1 g 27
G O o S| 5388
e 0.625 U |[eo8 280
1.500 - ; 0.125 {9 MuLLioN cou | l———FCONTlNuous F< 209 2.0
RS o 2 3275
T =z .
9/32" DIA. 9/32" DIA f ” } " [ 0125 | 1.500 _—8 S 2
HOLE 8" MAX. &<f]| HOLES AT EACH 0250  9/32" DIA. HOLE — =7 (15 103 D f :
0.C. | LOUVER BLADE —r:“‘_ ' | ' 1.500 (21) CONTINUOUS 5
0.375 —m 2,000 SUPPORT _ANGLE - o
. 1.500 AS REQ'D IN FIELD 1.5" LEG SHALL BE 21\ Wy
(16) TUBE_MULLION TO - 0.375 (TYP.) —| |v '— | | ’———‘»CONHNUOUS SECURED TO THE < \ )
LOUVER ANGLE —{ 2.000 [~ ’$ $ LOUVER JAMB I AN, R
9/32" DIA—1 1.50 8 & R
(ARCHITECTURAL LOUVER) (77) SLEEVE_SUPPORT Héiés DIA T 0 1.500 £ © ;ﬁ\
(LENGTH = CONTINUOUS) ANGLE . LOLV AMB T f f o %
— _EB_J__LQ
(LENGTH = CONTINUOUS) SUBSTRAT P ‘ NTINUOUS SUPPORT =
15" LEG SHALL BE ANGLE " DRAWING NO. REV.
SECURED TO THE 1s+|65§rBNo
LOUVER JAMB ’
10 or 10

CHECKED BY: |




